CA-110 NLH
2003 NLH General Rate Application
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What would the average cost of energy per MWh, including
appropriate allowance for capital cost, of an additional unit at the

Holyrood?

What would be the estimated conversion factor?

For reasons of commercial confidentiality, Hydro cannot provide this
information. Moreover, this information is not material or relevant to

the understanding of the issues with this application.

The conversion factor for a new conventional steam unit at Holyrood
would be dependent on the unit’s production level. At best, itis
estimated to be in the range of 638 kWh/bbl.



